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Question Number : 1 Question Id : 583224749 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The microprocessor along with other components is fixed to a base called:

Options:
1 % Switch board

> « Motherboard

- % Platform
4 % Interface card

Question Number : 1 Question Id : 583224749 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 2 Question Id : 583224750 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following holds data and instructions that are in current use by the CPU?

Options:
| « Registers
> % ROM
3 ® DVD
4 % Hard Disk

Question Number : 2 Question Id : 583224750 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 3 Question Id : 583224751 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical



Correct: 1 Wrong: 0
Which of the following is a sequential access memory?

Options:
, v Magnetic Tape

> % Hard Disk
=z B CD
4 % DVD

Question Number : 3 Question Id : 583224751 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 4 Question Id : 583224752 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
With respect to electronic devices. PDA stands for:

Options:
, w Public Digital Assistant

-  Personal Digital Assistant
- % Personal Dynamic Assistant

4 % Public Dynamic Assistant

Question Number : 4 Question Id : 583224752 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 5 Question Id : 583224753 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O



Which of the following is a series of supercomputers designed and developed by C-DAC in India?
Options:

1 % Vulcan

5 % SuperMUC

= % Blue Gene

4 « PARAM

Question Number : 5 Question Id : 583224753 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 6 Question Id : 583224754 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following is used by CRT displays for visual representation of data?

Options:
, « Electron gun

- » Liquid crystal diodes

- % Light-emitting diodes

4 % Plasma panels

Question Number : 6 Question Id : 583224754 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 7 Question Id : 583224755 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O



State whether the following statements are True or False?

I) A printer can be either impact or non-impact.
IT) Dot-matrix printers can use continuous paper than individual sheets.
III) A plotter can produce high-quality graphics or drawings using ink pens.
Options:
1  1-Tre. II - True, III - True

> % 1-True II - False. III - False
5 % 1-True II - False. III - True
4 % 1-True II - True, III - False

Question Number : 7 Question Id : 583224755 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 8 Question Id : 583224756 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Match the following:

Set-1 Set-2
I) Plotter A) Can record and erase data multiple times
II) DVD-ROM B) Can record data only once
[ITI) DVD-RAM C) Output device
IV) DVD-R D) Can only be read and not written
Options:

; # I-D.I-C.II-B, IV-A
o g A B BT <AL T < B
3 % I-C,I-D,II-B,IV-A
4 % I-D.II-C.III-A, IV-B

Question Number : 8 Question Id : 583224756 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 9 Question Id : 583224757 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
With respect to programming languages. the full-form of FORTRAN is:

Options:
1 # Forward Translation

- % Formal Translation
= « Formula Translation

4 % Formula Transistor

Question Number : 9 Question Id : 583224757 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 10 Question Id : 583224758 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
An Antivirus is a(n) software.

Options:

| % System

> % Application



e
5 o Utility
4 % Firmware

Question Number : 10 Question Id : 583224758 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 11 Question Id : 583224759 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

Which of the following is used to organize data into columns and rows and allows users to insert formula
for data analysis?

Options:
1 # Multimedia software

-  Electronic spreadsheet

= % Presentation software

4 ® Word processing software

Question Number : 11 Question Id : 583224759 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 12 Question Id : 583224760 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following is a Freeware?

Options:
1 % MS-Office



> « Adobe’s Acrobat Reader
= # Sun Solaris
4 ® Unix

Question Number : 12 Question Id : 583224760 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 13 Question Id : 583224761 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
If a computer has two RAM chips of capacity 512 MB and 1 GB. then the total memory capacity of the computer is:

Options:
. ®% 15326 KB

> % 1.25GB
s « 1536 MB
4 % 1563 MB

Question Number : 13 Question Id : 583224761 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

. % 15326 KB
, « 1.25 GB

- v 1536 MB
. = 1563 MB

Question Number : 14 Question Id : 583224762 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following is equivalent to 128 Kilobyte?

Options:
, % 28 Byte



> % 2°Kilobyte
- » 2° Megabyte

4 ¢ 20 Bits

Question Number : 14 Question Id : 583224762 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 15 Question Id : 583224763 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The process of rebooting a computer through the menu option or the keystroke combination is called:
Options:

, = Defragmentation

> # Hard boot
%z % Cold boot

4 « Warm boot

Question Number : 15 Question Id : 583224763 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

Question Number : 16 Question Id : 583224764 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
The BIOS program is permanently stored in:



Options:
1 % Hard Disk

o>  ROM chip

- % RAM chip

4 % Cache memory

Question Number : 16 Question Id : 583224764 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 17 Question Id : 583224765 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Which of the following loads an operating system into memory during the boot process of a PC?
Options:
| « Bootstrap loader

5 % Memory manager
5 % Compiler

4 % Assembler

Question Number : 17 Question Id : 583224765 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 18 Question Id : 583224766 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



Executing “cmd” command through “Search programs and files” or “run™ option launches:
Options:
; w» Registry editor

- % System restore

5  Windows command processor

4 % System backup

Question Number : 18 Question Id : 583224766 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 19 Question Id : 583224767 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
State whether the following statements are True or False?

I) Hibernate shut-down option uses less power than sleep option.

IT) Many laptops go to sleep mode when you close the lid or press the power button.
Options:
; & 1-True, II - False

> % 1-False II - False
z « 1-Tre II - True

g% L* False. II - True

Question Number : 19 Question Id : 583224767 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Sfgse 5w F=ET Fa=F T8 & ar 9T

) EEIeE Ae-S3A Feeq, T fased & goaT #, FA TG & SIAE T g
) T 3T 92 # o 92 F9 § I IHFr IE7 92 mﬁ%ﬁaﬁﬁmﬁﬁqmﬁﬁ
ST 2l
Options:

L ow |- FEL - e
o % | - 7EE, Il - e




o |- T, - wE

o o |- 3, 1l - T

Question Number : 20 Question Id : 583224768 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The length of TPv4 address is bits. whereas the length of IPv6 address is bits.

Options:
| 32:128
, » 32:64
5w 64:128
4 64:32

Question Number : 20 Question Id : 583224768 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 21 Question Id : 583224769 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Which of the following statements about malware is false?
Options:

1 # Malware is a malicious software

-  Malware is a benign software

5 » Malware damages computer resources without the user’s knowledge

4 # Malware may steal important information from the affected system

Question Number : 21 Question Id : 583224769 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Question Number : 22 Question Id : 583224770 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Which of the following appears to be a useful software at first glance and damages the computer once it is installed?

Options:

| « Trojan

> w Utility software
= % Virus

4 % Worm

Question Number : 22 Question Id : 583224770 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 23 Question Id : 583224771 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Which of the following collects information about users without their knowledge and transmits this information in
background to someone else?

Options:
1 #% Virus
-~ % Worm

5 % Irojan

4 Spyware

Question Number : 23 Question Id : 583224771 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Question Number : 24 Question Id : 583224772 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following is the process of encoding messages in such a way that only authorized parties can access it?

Options:
|« Encryption

> % Compression
- » Decryption

4 # Translation

Question Number : 24 Question Id : 583224772 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Options:

Question Number : 25 Question Id : 583224773 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Encrypted or encoded message is also known as;

Options:
1 % Plaintext

5 o Ciphertext
- u Private key

4 w Public key

Question Number : 25 Question Id : 583224773 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 26 Question Id : 583224774 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
State whether the following statements are True or False?

I) Inwindows. default software installation directory cannot be changed.
IT) A strong password must contain only alphanumeric characters.

Options:
1 % I-Tre, II - True

5 % 1-True II - False
z « 1-False II - False
4% L+ False. II - True

Question Number : 26 Question Id : 583224774 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 27 Question Id : 583224775 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

With respect to file management, HPFS stands for:
Options:
, » Heavy Power File System

-  High Performance File System

- » High Performance Folder System

, w Heavy Power Folder System



Question Number : 27 Question Id : 583224775 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
ST JEU & HaY A, TT.HL.UE.UH. (HPFS) F 9T &9 &:

Options:

Question Number : 28 Question Id : 583224776 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
In basic FAT file system. a file or directory name can have up to a character extension.

Options:
1.+ 3
> % 4
= % 5
4 % 6

Question Number : 28 Question Id : 583224776 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

1. ¢ 3

2_%-34
3_&35

4 % 6

Question Number : 29 Question Id : 583224777 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
In basic FAT file system. which of following special characters can be used in a file or directory name?

Options:

1_%;3{

Question Number : 29 Question Id : 583224777 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 30 Question Id : 583224778 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Which of the following DOS conunands is used to copy multiple files or entire directory trees from
one directory to another?

Options:
, % MOVE

> ® COPY
5 « XCOPY
4 % DISKCOPY

Question Number : 30 Question Id : 583224778 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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TAFE ¥ g H FUr # & fore fERar Fmar g7

Options:

. % MOVE

, % COPY

2 ¢ XCOPY

., # DISKCOPY

Question Number : 31 Question Id : 583224779 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Match the following:

LIST-1 LIST-2
I) ZIP A) File system
IT) PDF B) Archive
IIT) FAT C) Portable document format
Options:

, « [-C.II-B.II-A
» w I-B.II-C.II-A
2 % [-AII-C.II-B



4 % I-B,II-ATII-C

Question Number : 31 Question Id : 583224779 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
 wl-C ll-B ll-A
swl-B I1-C ll-A
sxl-A NI-C ll-B
swl-B ll-All-C

Question Number : 32 Question Id : 583224780 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
State whether the following statements are True or False?

I) A file cannot be copied more than three times.
II}) COPY and MOVE comunands can be used interchangeably as they perform similar tasks.

Options:
1 % I-True. II - True

5 % 1-Tre II - False
% I- False. II - True

4 « 1-False II - False

Question Number : 32 Question Id : 583224780 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 33 Question Id : 583224781 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following is NOT a valid application of MS-Word?
Options:

1 # Creation of documents

-~ » Creation of personalized letters for a large number of people

5  Creation of Computer Added Design (CAD)

, » Creation of web pages

Question Number : 33 Question Id : 583224781 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Options:
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Question Number : 34 Question Id : 583224782 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following MS-Word features can be used to ensure that the binding does not obscure the texts?

Options:
1« Gutter margin

o % Wword wrap
- % Hyphenation

4 # Indentation

Question Number : 34 Question Id : 583224782 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

TA.TH.-T5 (MS-Word) #r famafof@a frewant & & Fiaar, 77 gafteg &= F e 39aer fear =
kT ¢ T asfEer, dare #r 3T (obscure) FgT FIAT &7

Options:

o W aé-ﬁ:q.



- % BTG
4 % F5UH

Question Number : 35 Question Id : 583224783 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

In MS-Word. an 18-point font size is equivalent to:
Options:

1 % 11Inch

1
— Inch
o ® 2

1
=Tnch

1
—Inch
4 % 6

Question Number : 35 Question Id : 583224783 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
UA.TH.-2 (MS-Word) H, 18-912C Wiee HTHR, [FHF FAJET gar 82
Options:

1

M
®

1

+

=9

L]
S
Lo R A T

b
®

Question Number : 36 Question Id : 583224784 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Which of the following automatically moves a word that is too long to fit on a line to the beginning of the next line?
Options:

1 % Format Pamter

o  Word Wrap

- % Hyphenation

4 » Spell check

Question Number : 36 Question Id : 583224784 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O



fafafeT & @ Fiaar, Tarfog T ¥ 38 g F IFTE! T 37 AT A oFf 1§, ST W
fihe g1t & fow sgd o gar 87

Options:

|« WHE ¥
2.»**3?1':{

- w BIAHA
4 % T I>F

Question Number : 37 Question Id : 583224785 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following MS-Word features can be used to create a large capital letter at the beginning of a paragraph?

Options:
1 %= Label
> % Header

- # Envelope

4 Drop Cap

Question Number : 37 Question Id : 583224785 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
SETs T A H, TH TIT Hed HEW TAA & o, AT # § tA.THE-F5 (MS-Word) #r
FiT I Frorwar &1 39T &Far o gar 7

Options:

1_%?3?
2_%3%“

4.»‘*”3&’-#

Question Number : 38 Question Id : 583224786 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Match the following:

LIST-1 LIST-2
I) CulHC A) Cut
I cCculHX B) Paste
1) Ctrl+V C) Copy
Options:

. % I-B.I-AII-C
, % I-B.II-C.II-A



2w [-AII-C.II-B
. » 1-C.II-AII-B

Question Number : 38 Question Id : 583224786 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Teaforaa & e
= -1 -2

) Ctrl+C A) Fe
II) Ctrl+X B) d9¥
1) Ctri+V C) T

Options:

 xl-B I-All-C

sw l-B, I1-C Il-A

sxl-A II-C Il-B

Lo l-C Il-All-B

Question Number : 39 Question Id : 583224787 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

In MS-Excel. a workbook must have at least worksheet(s).
Options:

1.¢ 1

I

o W

Lag

3 ®
4.é3—’|-

Question Number : 39 Question Id : 583224787 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

UH.TH-Ta8e (MS-Excel) & T& THgF H, FH § &F FRefie g =nfem)
Options:

1. 1

> #® 2

2 8% 3

4 % 4

Question Number : 40 Question Id : 583224788 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
The default vertical alignment of texts in MS-Excel worksheets is:



Options:
, w Justify

> % 10p
=z % Centre

4 « DBottom

Question Number : 40 Question Id : 583224788 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
TH.TH.-UFHS (MS-Excel) & F&ofllc H, TFE &1 BWlee Fearew AI@UT (vertical alignment) gl

Options:
| % STEEITIE
5 %
s » X

4 v FieH

Question Number : 41 Question Id : 583224789 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
A small black square at the bottom-right corner of a selected cell boundary is known as:

Options:

, % ToolTip

> % Drop Cap
= « Fill Handle
4 % AutoSum

Question Number : 41 Question Id : 583224789 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

AT BT AT &, @=-a0 S H, TF SIS FaT J97 FF §7 F AT AGT 272
Options:

| g\?,rﬁ'cr

. » T gsd

g m

Question Number : 42 Question Id : 583224790 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following Excel features allows vou to quickly find the sum of numbers in a range?

Options:



1 = Fill Handle
o« AutoSum

= % AutoFill

4 % What-If analysis

Question Number : 42 Question Id : 583224790 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

freafaf@a & & v (Excel) & Fiwdr Fovar, g=amst & o9 # dFar & 719 w9 # g T2
FTT 872

Options:

, % el 830
3.%}1@%
, & REFH TATTEH

Question Number : 43 Question Id : 583224791 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The display value of the cell containing the Excel expression “=28/7-2"3" is:
Options:

1 ® 4

oo

=z B 28

4 B 28

Question Number : 43 Question Id : 583224791 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

TFae (Excel) F TF O H =T=i “=28/7-2"3" &, @ 3T AF FIT gr?
Options:

L% 4

>« —4

2 ® —28

4 ® 28

Question Number : 44 Question Id : 583224792 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The display value of the cell containing the Excel expression “=8/A" is:
Options:

1 ® 0



5 % #DIV/O!
2  HNAME?
g4 #I\Ir':’%.

Question Number : 44 Question Id : 583224792 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

TFH (Excel) & TF T H == “=8/A” &, & IHSH AT FIT 2?2
Options:

1 & 0

> % #DIV/O!

- v #NAME?

4 % HN/A

Question Number : 45 Question Id : 583224793 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Assuming the contents of the cells Al. A2, A3 and A4 as 12. 13, B and 14, respectively, the value of the Excel

function =COUNT(A1:A4) is:
Options:

1 % 1

o ® 2

= % 39

4 ¢ 3

Question Number : 45 Question Id : 583224793 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
HH afaT, ¥ A1, A2, A3 3T A4 & &8 12, 13, B 3t 14 orar &, vowar 0=+
=COUNT(A1:A4) & AT &

Options:

1 % 1
o ® 2

4 3

Question Number : 46 Question Id : 583224794 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The error value #DIV/0! represents that:

Options:

, « The denominator of the division operation refers to a cell that contains either 0 or is blank.



> % [Ihe denominator of the division operation refers to a cell that contains a negative value.

- % Thenumerator of the division operation refers to a cell that contains either 0 or is blank.

4 % Thenumerator of the division operation refers to a cell that contains a negative value.

Question Number : 46 Question Id : 583224794 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

3fe A= #DIV/0! Zeia g

Options:

| v TEETS TR FT SIS, 3H WA H Hoiod #dT ¢, w®A I ar 0 ar e 7
g%

e 39T 7 919, 3T 8 F HEid HdT g, FHH UF HUTcHF A gl
. % TS HTORAA FT AW, 37 VA & AT am g, fordgsd a1 ar 0 a1 Raa g
, » TS HTOA F AW, 37 VA F GG T 8, odH Th HUMHF AT g

Question Number : 47 Question Id : 583224795 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Which of the following is NOT a valid IP address class?

Options:
1 « Class-P

- u Class-A
3z # Class-B
4 % Class-C

Question Number : 47 Question Id : 583224795 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

TeRa 7 o #iaar, v T 3 (IP) 237 767 &2
Options:

1 & m'P

o W m'A

z B m'B

g w EI-?!'I'H—C

Question Number : 48 Question Id : 583224796 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Downloading is a process to transfer data from computer to computer.
Options:

| « Remote: Local



5> R Remote: Remote
5 % Local: Local

4 % Local: Remote

Question Number : 48 Question Id : 583224796 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
sEaseT v giear g, 5w s FohT | FI H TEHT fmar ST 2

Options:

1. ; St
. » TARE; AT
o w oitepel; Sliehel
Ve ) diterer; AT

Question Number : 49 Question Id : 583224797 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
In which of the following network topologies, each node is connected to a central node?

Options:
1 ® Mesh

o o Sfar
T Rlllg
4 % DBus

Question Number : 49 Question Id : 583224797 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0

PR ook e § ¥ R, 99 A v S0 A F 8 A
Options:

1 FHer

2. TR

g-ﬁﬁ?r
4_&3“

Question Number : 50 Question Id : 583224798 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The Google search query “sun*" will search for the web pages that contain:
Options:

|+ Any words beginning with *sun”



o w Any words ending with “sun”

= u Amny 4-letter words beginning with “sun”

4 % Any 4-letter words ending with “*sun”

Question Number : 50 Question Id : 583224798 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
TES WA FAT “sun ¥ 3 AT 9T FT BT FET TG afEafe= 2@l

Options:

it ‘sun” T ¥ B areT FI o7 oreg
« “sun” ¥ 3T @ Irem s & ereg
= ‘sun” T ¥ B Ao FIs o 4-3aTT F oTeq
L, % ‘sun” § 3T B FTem IS T 4-3TT F g

2

Question Number : 51 Question Id : 583224799 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Which of the following refers to the address of the web server on which the website is hosted?

Options:

, w» Hyperlink

> o URL

o W DNS

4 % MAC address

Question Number : 51 Question Id : 583224799 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Feafaf@T & O Fi9d, 35 39 g% & 99 & ST ar ¢, 5w W I5mse & @ & =

Options:
| BRI
> ¢ URL
= % DNS

s » 3% (MAC) Tiw

Question Number : 52 Question Id : 583224800 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



Match the following:

LIST-1 LIST-2
I) Facebook A) Social networking site
IT) Twitter B) E-commerce site
IIT) Flipkart C) Microblogging site
Options:

, % [-C.II-AII-B
, w I-B.II-C.II-A
2w [-AII-C.II-B
. % I-AII-B.II-C

Question Number : 52 Question Id : 583224800 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

A=eET = Fe
-1 -2
) HETR A) Trerer FeafeeT A=
) =feT B) I-FHAT HEC
) Fersre C) HAEFedAETT TET
Options:
2 1-C lI-Alll-B
»ul-B,N-C 1l -A
sl -AN-C Il -B
gxnd -8 0-8.1-C
READING COMPREEHERNSION
Section Id : 583224104
Section Number : 2
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 1
Number of Questions to be attempted: 1
Section Marks: 5
Display Number Panel: Yes
Group All Questions: No
Sub-Section Number: 1
Sub-Section Id: 583224104

Question Shuffling Allowed : Yes



Question Id : 583224801 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (53 to 57)
Juestion Label - Comprehension

Read the following passage and answer the gquestions given
after it.

Birbal was the favourite minister of king Akbar. The King’s
brother-in-law, Hussain Khan was very jealous of him. He
wanted Birbal’s job and so he decided to talk to his sister. the
queen. One day. when Akbar went to his room. he found his
Begum looking very angry. When king asked her the reason. she
said. “I want you to make my brother the minister at your court
in place of Birbal.”

The king said. “How can I do that? Your brother is not very
intelligent, besides how can I tell Birbal to leave his job without
any reason?”

The Begum thought for sometime and said. “Why don’t you ask
Birbal to do something which is impossible. and when he does
not do it, tell him to get out. When you are in the garden
tomorrow. tell Birbal to bring me to you. I will refuse to come,
s0 you can dismiss him.”

The next day. Akbar sat sadly in his garden and when Birbal
asked him why he was upset. the king said. *Your queen. my
Begum 1s angry with me and refuses to talk to me. If you bring
her to me here, I'll give you a prize. If you don’t I'll take away
your job.” Birbal went to the queen and said. “Begum Sahiba —
Jahanpanah wants you in the garden please....” Before he could
finish his sentence. a messenger came and whispered something
in Birbal’s ears. The queen was curious, but the only words she
could hear were “she is beautiful. “Burbal then turned to the
queen and said. “Forgive me Begum Sahiba. You do not have to
come to the garden now. The situation has changed.” and he left.

At this the queen became very curious and quickly ran to the
garden. She was surprised to see the king alone. The king was
also surprised to see her and he said. “But you told me you will
not come? Why are you here?”

The queen told him about Birbal and the messenger. The king
was very amused and called Birbal and gave him a prize.

Sub questions

Question Number : 53 Question Id : 583224802 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Who was Hussain Khan?
Options:



1 % Birbal® rival

>  Thequeen’s brother
= % Alkbar’s cousin

4 % The queen’s cousin

Question Number : 54 Question Id : 583224803 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The queen was

Options:

, w aggressive

- u Jjealous of Birbal

= « concerned about her brother

4 % self-centered

Question Number : 55 Question Id : 583224804 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Alkbar could not make Hussain Khan a minister
in place of Birbal because:
Options:
, « hewas not intelligent

> % hewas the queen’s brother

= % Alkbar did not like him

4 % Akbar did not value the queen’s advice

Question Number : 56 Question Id : 583224805 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Select the option which is false.

Birbal was
Options:
1 % clever

> u intelligent
5  Jealous

4 % deserving

Question Number : 57 Question Id : 583224806 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O



In the light of the passage what impression do
we get about Akbar?

Options:
, = Hewas avery good husband.

-~ % Healways listened to Birbal's advice.
-  He was fair and unbiased to his subjects.

4 % Hewas very secular.

Question Id : 583224801 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (53 to 57)
Juestion Label - Comprehension
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Sub questions

Question Number : 53 Question Id : 583224802 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

@?mﬁam

Options:

Question Number : 54 Question Id : 583224803 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
e} 2T

Options:
, % HTHTHF

= dEe & 9fa §aTe]
. o HIS oS F A A =g
4 m*ﬁsﬁ'

Question Number : 55 Question Id : 583224804 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

m,gﬂﬂmﬁmtmww
Hr FET ST HeRaT T, IR
Options:

| T & @ e
, « T8 Tl & &5 o

. % HHEX 3H THG @l ST T
y ST F Tl HT TAG F Fged Hel ST AT

4

Question Number : 56 Question Id : 583224805 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

T8 TFeT I Fr 3T
EER] ATl

Options:



E% 4 =
4.3331?11

Question Number : 57 Question Id : 583224806 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

T AT & HUR T, gF HeFad & a H
FIT FHSS 27

Options:

K agag?rsa?esrtrﬁrﬂrf

- 98 FHA SRE I Heg Gl o1

. » T8 3 o (99 % v =R ik gt o
= agag?ruﬁﬁﬁr&rarrl

OUANTITATIVE AFPTITUDE
Section Id : 583224105
Section Number : 3
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 6
Number of Questions to be attempted: 6
Section Marks: 6
Display Number Panel: Yes
Group All Questions: No
Sub-Section Number: 1
Sub-Section Id: 583224105
Question Shuffling Allowed : Yes

Question Number : 58 Question Id : 583224807 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The sum of the two digits of two-digit number is 14. The difference between the first digit and the second digit of the
two-digit number is 2. What is the product of the two digits of the two-digit number?

Options:
1 ® 56

o0

>« 4
4

3. % 45



Question Number : 58 Question Id : 583224807 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

ar 37T T T WEAT F ST IR N AT 14 F| ar AR el HEAT F TES HIT gE HF F AT H 2 &
HAT E| &1 3T TS SH FEAT & Al 3T T UAFS FT 87

Options:

; % b6
o v 48
z % 45
4 ® D2

Question Number : 59 Question Id : 583224808 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Rekha invests Rs. 1.87.000 in the stock market. which is 25% of her annual income. What is Rekha’s approximate
monthly income?

Options:
, % Rs. 63343

. % Rs.61.206

5 % Rs.60.196

. v Rs.62.333

Question Number : 59 Question Id : 583224808 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

Y@ A AR A 1,87,000 T9F F fATer FIAr §, S SR A 3T T 25% T OIT@T Hr HFATAS
A8 31T F41 27
Options:

, % ¥ 63,343
, » . 61,206
. = % 60,196
. v T 62,333

Question Number : 60 Question Id : 583224809 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Two brothers A and B are working on a project. The efficiency of A is thrice the efficiency of B. B takes 30 days more
than A to finish the entire project alone. If A and B work together. they can complete the entire project in days.
Options:

; % 10.5

> % 10.75



5 o H:25
g4 W 11

Question Number : 60 Question Id : 583224809 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

ar 515 A A B T Sio@e W FH S &1 A FT FIAeTAAT, B & e H, diF 71 3% 8 B #
T WSEE AT AT S H, A B g H 30 R o e §) ofT A il B et wer S A
T I ST H = & T &% "= Bl

Options:

. % 105
, « 10.75
- ¢ 1125

Question Number : 61 Question Id : 583224810 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The given average of two numbers is 62. If 2 is added to the smallest number. the ratio of the numbers becomes 1 : 2.
What will be the difference between the numbers?

Options:
1 % 62
-~ % 40
z % 84
4 4

Question Number : 61 Question Id : 583224810 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

ar HEATHT # HET 62 71 TG Waw oI HEAT H 2 ST AT g, A HEAAT F AT 10 2 & A
g, ar 2 gETst F 9= F7 H{aT F4T gEm?

Options:

; = B2
> % 40
= % 84
4 v 44

Question Number : 62 Question Id : 583224811 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The average weight of three boys B1, B2 and B3 is 60 kg, while that of B1 alone is 65 kg. The average weight of
three boys B1, B4 and BS5 is 59 kg. What is the average weight of B1, B2. B3. B4 and B5?

Options:

; % 38.1kg



4.4 -

Question Number : 62 Question Id : 583224811 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

T =T B1, B2 3T B3 F7 3ftHg 3= 60 fFar g, FafF 3 B1 F1 =9 65 TFar &1 9 a0
B1, B4 3T B5 7 3ftag =7 59 &FaT &1 B1, B2, B3, B4 T B5 #Fr tag =9 F41 87

Options:

, % 58.1 fFar
, » 58.2 FFer
5 » 58.3 frar
4 v 58.4 Twar

Question Number : 63 Question Id : 583224812 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Find the length of the altitude of a triangle having side 42 cm. 34 cm and 20 cm if the length of base is 42 cm.

Options:

1 % 24cm
~ % 8cm
= o 16 cm
4 % 12cm

Question Number : 63 Question Id : 583224812 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

42 A, 34 T AR 20 T Fr o= T O F ofverw Fr FER A9 AT, 3R smw f
ST 42 TN g

Options:
2 v 16 T
4 % 12 AL
GEMEREAL MEMTAL ABILITY AND REEASONING
Section Id : 583224106
Section Number : 4
Section type: Online

Mandatory or Optional: Mandatory



Number of Questions: 6

Number of Questions to be attempted: 6

Section Marks: 6

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section Id: 583224106
Question Shuffling Allowed : Yes

Question Number : 64 Question Id : 583224813 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Among the numbers 356, 172, 267, and 583, if the positions of the first and third digits of each number are
interchanged. how many even numbers will be formed?

Options:
1 « One

> % Two
z % Three
4 % Four

Question Number : 64 Question Id : 583224813 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

e 356, 172, 267, 3R 583 # W, Uf¢ Toder HEAT & Ygdl AR AL 3o &I HI9H H g a1 S1ar
¥ °r e o et S

Options:

1.« TR

R aﬁ-
= W E—’ﬂ?-l‘
4 R =T

Question Number : 65 Question Id : 583224814 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
In a certain code. PRAMOD is written as SODIRA. In the same code. KESHAYV will be written as:

Options:
; ® BNVEDS

NBDEVS
» NBVEDS
NBVSDE

¥ =

e

®

Question Number : 65 Question Id : 583224814 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



% fafag FiF a9r #, PRAMOD &r SODJRA for@r =rar g1 39T #i5 swr #, KESHAV & &% forar
FATI?

Options:

. % BNVEDS
- % NBDEVS
- v NBVEDS
., % NBVSDE

Question Number : 66 Question Id : 583224815 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Starting from a point X. Sanjeev walks 20m south. He turns left and walks 30m. He then turns left and walks 20m. He
again turns left and walks 40m and reaches point Y. How far and in which direction is the point Y from the point X?

Options:

1 % 20m west
-~ % 10m east

= % 10m north

4 + 10m west

Question Number : 66 Question Id : 583224815 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

g X & a3 &2, &0, aftor fear Hr i 20 A F g FTT e 81l DR g arff s g3 €
R 30 A Fr gl o7 Far ¥ I R F 9 AR FgIar 7 3R 20 A Fr g 97 = §) 7 I+ 9
HR e & AT 40 A Fr gl 7w o E AR Rg Y W wgmar 81 Ry Y, Big X @ fraeh @ ik e
ferem & 27

Options:

, 10 #n 9=
2. =

4 v 10 . 9feaw

Question Number : 67 Question Id : 583224816 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
A is the son of B. C. B’s sister has a son D and a daughter E. F is the maternal uncle of D.
How many nephews does F have?

Options:
1 & Four

-~ % One
= « TWo

4 % Three



Question Number : 67 Question Id : 583224816 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
A, B & 99 1 C, B &' @1 &, S/HaT U 97 D Ju7 v T E &1 F, D &7 A g1 F & fhas siciisr €2

Options:

1_$W
2_@31’%

sv &
4 % T

Question Number : 68 Question Id : 583224817 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Find the odd one out.

6,9, 12, 15, 21, 24, 28, 30
Options:
1.« 28
> % 30
- #% 24
4 % 21

Question Number : 68 Question Id : 583224817 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

=g 7 T JuR 1 9g=a #:1
6, 9, 12, 15, 21, 24, 28, 30

Options:

1. v 28
> % 30
z % 24
4 % 21

Question Number : 69 Question Id : 583224818 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

If + stands for -. - stands for =, * stands for /. / stands for ~. then 15 *3/15+5-2=7°
Options:

J % 12

2.« 10

= % 16

g # 20



Question Number : 69 Question Id : 583224818 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
T+ FHT -8, -F FT x g, AT/ &, [ F AT+, AT 15+ 3 /15 +5-2=7?

Options:

1 % 1 2
o 1 O
o ® 1 6
g4 ® 20‘
GEMNERAL AWARFENESS
Section Id : 583224107
Section Number : 5
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 6
Number of Questions to be attempted: 6
Section Marks: 6
Display Number Panel: Yes
Group All Questions: No
Sub-Section Number: 1
Sub-Section Id: 583224107
Question Shuffling Allowed : Yes

Question Number : 70 Question Id : 583224819 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The headquarter of International Atomic Energy Agency (IAEA) is located in:

Options:
1 ® Geneva

» % Washington
3 o Vienna

4 % London

Question Number : 70 Question Id : 583224819 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
HeaiISEr g STAT] Sl HIHSI0T (ME.UE0.) & AT Fal 2ud 87

Options:

1_wﬁ|?FiT

5 v fager
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Question Number : 71 Question Id : 583224820 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
When 1s World Mental Health Day. recognized by the UN is observed?

Options:
1 #% October 8

> % November 29
3 # October 2
4 « October 10

Question Number : 71 Question Id : 583224820 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
ﬁ'«_lfr“rr TS IR ATTT Ied, &2 A ey 9w &9 Ja/7 I 22

Options:

8 FTE

1 %
5 % 29 dAIE

. x 2 3

, » 10 3@

Question Number : 72 Question Id : 583224821 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Who amongst the following became the first Indian to win ‘Golden Globe Award 2009°?

Options:
1 % Shivkumar Sharma

> % Anu Malik
= % Zakir Hussain
4.

« A. R. Rahman

Question Number : 72 Question Id : 583224821 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

TrafeeEg J O, ‘Tesa 7a19 a2 2009’ g JTer Uger AT HiT 87

Options:

1%ﬁm§mwam‘r
Hﬁ'ﬂﬁﬂ:

o R

= )
5 % Fllens §\Hr|
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Question Number : 73 Question Id : 583224822 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Who was the first Woman to win the Jnanpith Award?

Options:

, « Ashapoorna Devi
> % Amrita Pritam

= % Mahashweta Devi

4 % Mahadevi Verma

Question Number : 73 Question Id : 583224822 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
AAIS TR OTer ITelT 98l HTgolm i or?

Options:

. o 3
. % HETeAAT &
4 % FETSEr FAT

Question Number : 74 Question Id : 583224823 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Monica Seles is associated with which of the following games?

Options:
1 # Athletics

> o Tennis
- % DBasketball

4 % Badminton

Question Number : 74 Question Id : 583224823 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Aifaer gog, Foag § ¥ &y @9 ¥ 69T 22

Options:

1. % S EIEE
> v o
o mﬁ
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Question Number : 75 Question Id : 583224824 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Who wrote the book, “Cry. the Peacock™?
Options:

, w» Khushwant Singh
- % Morarji Desai

3 « Anita Desai

4 % Arun Gandhi

Question Number : 75 Question Id : 583224824 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
‘w1, T WFF” THF g frder o 2

Options:
gerEa e

T

, » AR aTS

L o FeaT 3O
4 % 3TTOT TefY

Actual
Group Number : 2
Group Id: 58322468
Group Maximum Duration : 15
Group Minimum Duration : 15
Revisit allowed for view?: No
Revisit allowed for edit?: No
Break time: 0
Mandatory Break time: No
Group Marks: 0

English Typirg Test

Section Id : 583224108
Section Number : 1

Section type: Typing Test
Mandatory or Optional: Mandatory
Number of Questions: 1

Number of Questions to be attempted: 1

Section Marks: 0

Display Number Panel: Yes

Group All Questions: No



Sub-Section Number: 1
Sub-Section Id: 583224108
Question Shuffling Allowed : No

Question Number : 76 Question Id : 583224825 Question Type: TYPING TEST Display Question Number : Yes

Since hurmans are visually driven creatures, the impact of imagery only increases with the help of anirmation.
Animation is like eye catchy moving objects that helps in getting attention and differentiate from other
cormpetitors. Today more designers are considering animation as a useful element 1o enhance user experience
of audiences. From a delight tool, it has become the most important tools to bridge successful interaction
among apps and end users. Good User Interface animations have a meaning ful purpose. But one has to make
sure to incorporate at the right time as well as the right place. Functional animation is a delicate anirration
which has very Cclear and logical purposes that reduce cogritive load, prevent change blindness plus establish
better recall in spatial relationships. Animation brings user interfaces to life. The prime focus of Functional
Anirmation 15 on Ul that needs to e intuitive, responsive and must use human centered design approach. 4
well tested functional animation has the potential to fulfill multiple purposes. Good interaction design provides
feedback. Feedback males you feel like you're interacting with real elerments on the screen. User interface
elements such as buttons and controls should appear tangible, even though they are behind a layer of glass.
Yisual and motion cues can bridge this gap by acknowledging inpuat immediately and animating in ways that
look and feel like direct manipulation. Users warlt to know their current context in a system via appropriate
visual feedback. For example, animated loading bars shows how fast a process goes and sets an expectation
for how fast the action will be processed. This serves as a real time notification of a systemn status and enables
the user to understand what is going on quickly. First time users ofter need help to understand how to use an
app interface. Especially if interface contain unfamiliar or unique interaction such as gesture. Without help,
users may be confused on how to interact with an app. You should provide a set of visual hints that provides
insights about what is about to happen and engage users to take further steps. Functional anirmaticn smoothly
transports users between navigational contexts and explains chianges on & screen by creating visual
CONNections between transition states. But one must understand that Dozens of apps have same exact features
and accomplish the same tasks. They might all have a good user experience but only few establish emotional
engagernent with users. Fay attention to anumations that can convey an emotion and can imake the experience
feel crafted. Developing and testing your animation is the best way to convey how you intend to use animation
in your design. Using interactive prototypes, you will get a clear picture as to what works and where the flaws
111 your app are hiding.
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